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BCTYIl

KonTponsHa poOoTa nmpu3HadeHa JJis CTYACHTIB MEPIIOro Kypcy
BCIX CHEIlaJbHOCTEW 3a04HOI (QopMu HaBUaHHSI. MeTow JaHUX
METOAMYHUX BKa31BOK € JOTIOMOTra CTYJEHTaM Yy CaMOCTiMHINA poOOTi
HaJl PO3BUTKOM TIPAKTUYHHUX HABUYOK UWTAHHSI Ta TIEPEKIIaLy
JITepaTypu 3a CIEHIAIbHICTIO aHTITHCHKOI0 MOBOIO.

KontponbHa poboTa 2 mpomnoHyeTbest y 5 Bapiantax. CTyaeHT
MOBMHEH BHKOHATH OJIMH 3 II'SITM BaplaHTIB 3TIHO 3 OCTaHHBOIO
uudporo cBoro mudpy: CTyACHTH, B AKUX IMUEPP 3aKIHUYETHCS Ha
1 ab6o 2, BuKOHYIOTh BapianT 1, Ha 3 a6o 4 — 2, Ha 5 a6o 6 — 3, Ha
7 abo 8 —4,1a 9 abo 0 — 5.

KoHTposnbH1 poOOTH Ch1J BUKOHYBAaTH Ha €JIEKTPOHHOMY HOCI1
Ta apkymax gopmary A4, ne Ha EPIIOMY apKYIIl Ta€ThCs MPI3BUIIIE,
M’ Ta Mo OaThKOBI CTyJ€HTa, HOro IMH(pP, HOMEP KOHTPOJBHOI
po0OOTH 1 BapiaHTa, HOMEP TPYIH, a HANPHUKIHII 3aTUIIAETHCS MICIE
TSI 3ayBa)KE€Hb 1 BKa31BOK BUKJIa/laua-peIieH3ECHTA.

[Tam’graiiTe, 110 y cE€Cit0 MPOBOIUTHCS 00OB’A3KOBUI KOHTPOJIb
3aCBOEHHS MaTepiany KOHTPOJIbHUX POOIT.

Bci 3aBanHs mepenucyoThCs CTYIEHTOM MOBHICTIO, TICIIS YOTO
BUKOHYETHCSI MEPEKIaj] 3 aHIJIIHACHKOI PIAHO MOBOIO, MOAAIOTHCS
BIZIITOB1I1 Ha 3alIMTAHHS TOIILO.

KOHTPOJIBHE 3ABJIAHHSA 2

Jlns toro, mo0O NpaBWIBHO BHUKOHATH 3aBJAHHS, HEOOXITHO
3aCBOITH TaKi pO3/ILIIM KypCy aHTJIIHChKOT MOBU:

1) macuBHu# cran yaciB rpynu Indefinite;

2) yacu rpynu Continuous Ta Perfect;

3) monanbHi rmaronu (Modal verbs);

4) NIENPUKMETHUK TENEPIIIHBOr0 Ta MUHYJOro yaciB (Participle
I, 11);

5) rpamaTtuyHi GyHKIIIT Ta 3Ha4Y€HHS CIiB one, that, it.



3PA30K BUKOHAHHA BIIPAB

o BnpaBu 1

The teacher will ask the new grammar rule at the next lesson.

The new grammar rule will be asked by the teacher at the next
lesson. — HoBe rpamartnuyHe mnpaBmwio OyJe 3alKdTaHe BUYUTEIEM
HACTYMHOI'O YPOKY.

o BipaBu 2

I am looking at you at the moment.

S nuBmrock 3apa3 Ha Tebe.

am looking — Present Continuous Tense

o BnpaBu 3

Have you ever been to London? - No, I have never been there
Tu konu-ueOyap OyB y Jlongoni? — Hi, g HikoIM TaMm He OYB.
Have been - Present Perfect Tense.

o Bupasu 4

I....... see the sea from my bedroom window.
I can see the sea from my bedroom window.
A Moxy 0auMTH MOpE 3 MOTO BiKHA B CIAJIbHI.

o Bnpasu 5

Lost time is never found again. BTpauenuili yac HiKOJU HE
3HAXOJUTHCA 3HOB.

Lost — Past Participle y ¢pyHKIIIT 03Hau€HHS.

o BipaBu 6

That is all I wanted to say. — Ile Bce, 1110 51 XOTiB cKa3aTH.
KOPOTKHUH T’PAMATHYHUH JOBIITHUK

IHacuBnuii ctan (Passive voice) yaciB rpynu Indefinite
AHTITINCHKE JIE€CIIOBO Ma€ JiBa CTaHM: akTUBHUH (the Active

voice) 1 macuBHui (the Passive Voice)
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JI1€CIOBO B aKTUBHOMY CTaHi BUpPaXKae 110, Ky BUKOHYE caM
nigMer. JlieclioBo B MAacMBHOMY CTaHI yKa3ye Ha JIiio, sKa
BUKOHYETBHCS HAJ[ TIIIMETOM 1HIIIOI0 0CO0010 a00 MPEeIMETOM.

We asked a question. Mu 3a1anu nuTaHHS.
We were asked a question. Hawm 3anmanu nmutanHs.

[Toka3HUKOM MMACHBHOTO CTaHy € TIOEAHAHHSA  (OpPMH
JOTIOMIXKHOTO TJIaronia fo be B BIANIOBIAHOMY Yaci 3 JIENPUKMETHUKOM
munyJoro vacy (Participle 1) 3micToBHOTrO AiecioBa.

Hwxue HaBeieHO TaOMuIIl BIIMIHIOBAHHS J1€CTIO0BA Y TACUBHOMY
CTaHl.

Present Indefinite Passive

Oco0a Onanna MHoxH1Ha

1 I am asked We are asked

2 You are asked You are asked

3 He (she) is asked They are asked

Past Indefinite Passive

Oco0a OnannHa MHoOXH1Ha

1 I was asked We were asked

2 You were asked You were asked

3 He (she) was asked They were asked

Future Indefinite Passive

Oco0a Onanna MHoxH1Ha
1 I shall/will be asked We shall/will be asked
2 You will be asked You will be asked
3 He (she) will be asked | They will be asked

®OPMU I'PYIIN CONTINUOUS

®opmu rpynu Continuous

YTBOPIOKOTBCA 332 JOMOMOTOIO

niecioBa to be y BiAMOBIIHOMY Yaci (TEHEpilTHbOMY, MUHYJIOMY a00




MailOyTHbOMY) Ta (OPMH JIENPUKMETHUKA TENEPIIIHbOTO YaCy
(Participle I) 3MICTOBHOIO J1i€CIIOBA.

®opmu Tpynu Continuous  BHpPa)KarOTh TPUBATY [II10, SKa
3MIACHIOETBCS B II€BHMM MOMEHT a00 B TI€BHUM Mepioj dacy.
VYKpaiHChKOIO MOBOIO 111 (OpPMHU TEPEKIATAIOThCS  JIECIIOBOM
HEJIOKOHAHOTO BUJTY.

®opmu rpynu Continuous BKUBAIOTHCS MIEPEBAKHO JIJIS1 JI1E€CIIB,
K1 03Ha4aroTh Aii. JliecmoBa, siki 03HAYalOTh CTaH, MOYYTTs, OaKaHH,
IYMKH, K TIPaBuiIo, y hopMax TPUBAIMX YaciB HE BKUBAIOTHCHI.

To be+ Participle I

Present [ am writing a new plan now. He is writing a new plan
now. They are writing a new plan now.

Past He was writing a new plan when we came in.
They were writing a new plan when we came in.

Future They will be writing a new plan tomorrow at 5.

®OPMMU I'PYIIM PERFECT

®opmu  rpynu  Perfect yTBOPIOIOTBCS 32  JIOTIOMOTOIO
JOTIOMIXKHOT'O JIIE€CTIOBA f0 have B HOpMi TENEPIlIHLOTO, MUHYJIOTO YU
MailOyTHHOTO 4Yacy Ta AIENPUKMETHHKA MHUHYJIOTO 4acy 3MiCTOBOTO
niecnosa (Participle II).

OcHoBHe 3Ha4YeHHS NEePPEKTHUX YaciB — 1€ BUPAKECHHS 3B’ SI3KY
MHHYJI01 A1i 3 TenepimHiM yacoMm (Present Perfect) abo mepenyBanHs
Al IKOMyCh MOMEHTY 4Yd TepioJy B MHUHYJIOMY ab0 MalOyTHHOMY
(Past Perfect, Future Perfect).

[lepdexTHi 4Yacu 3BUYANHO BHUPAXKAIOTh HASABHICTh SIKOTOCh
pe3yabTaTy [ii, SKAA MOXKHA CIOCTEpIraTd y TenepilrHboMYy,
MUHYJIOMY 200 MalilOyTHEOMY.

I’ve bought a new pen. { kynuB HOBY pyuky. (Ha MOoMeHT, Konu
s 1€ TOBOPIO, 5 BXKE 1i Malo).

I asked Jack to go with us, but he said that he had already seen
this film. ([lo MOMeHTY po3MOBH B MUHYJIOMY JIisl BXK€ BijOyiacs, 1 1i
pe3yabTaToM 0yJio Te, 1m0 J>Kek Bxke 3HaB 3MICT (DUIbMY. )



To have + Participle II

Present | They have already informed me of the time of shipment
of the goods.
Bounu Bxxe npoiHpopMyBaJid MEHE MPO Yac
BiJIBaHTa)KCHHS TOBapYy.

Past They had shipped the goods when your telegram arrived.
Bonwu BKe BiAIIpaBWIM TOBApH, KOJIU MPUHNIILIA Ballia
Tejerpama.

Future They will have shipped the goods when your telegram
arrives. BoHu Bxke BiANpaBsATh TOBApP, KOJIM MpHUiijIe Baria
Tejerpama.

MOJAJIBHI JI€ECJTIOBA

MopainbHi Ai€ciioBa MOKa3ylOTh CTaBJIEHHS TOTO, XTO TOBOPUTH,
710 Aii, siIka BUpakKeHa 1HQIHITIBOM (a caMe€ MOXJIMBICTh, BEPOT1IHICTb,
HEOOX1HICTh, 000B’SI3KOBICTH). BoHM He MaroTh (popM y BCIX yacax,

IJA ObOro  BUKOPUCTOBYIOTLCA

X €eKBIBAJICHTH. 3aluTajibHl Ta

HETaTUBHI PEYEHHs 3 JiecaoBaMH OyIyrOThCa 0€3 JOMOMIXKHUX

niecniB, Hanpukiad: Can you help me? No, I can’t.

Present Past Future

HeoOxia- | I must find him. |1 had to find him. | I will have to find
HICTh I have to find I was to find him | him.
3miicHe- | him.
HHS i1 I am to find him.
Mosxmu- | He can find you. | He could find He will be able to
BicTh a00 | He is able to find | you. find you.
CIIPOMOX | yOuU. He was able to
-HICTb find you.
Moxmu- | You may find [ might find you. | I will be allowed
BiCTh 200 | him. I was allowed to | to see them
JTO3B1JI They are allowed | leave.

to see you.




MopanbHe HA1€ECIOBO must - NOBHHEH Ma€ TUIbKH (opMy
TeMepITHLOTo Yacy. Jl1ecoBO must BXUBAETHCA 1) NI BUpaKEHHS
00OB’s13Ky, HEOOXIMHOCTI, Hakazy, mopaau 1 3abopoHu; 2) s
BUPKEHHS MPUMNYIIEHHS 3 BIITIHKOM IMOBIPHOCTI.

3aMIHHUKOM JI€CJIOBa must € niecioBa to have to, to be to, ki
MalOTh JI€SKI JOMOMIXKHI BIATIHKM 3HaueHHs. JliecioBo fo have to
o3Haya€ OOOB’SI3KOBICTh BHKOHAHHS, BHUKIHUKaHy OOCTaBHHAMH,
HEOOX1IHICTIO, B TOM 4ac SIK fo be to — HeOOX1AHICTL 3MIMCHEHHS Oii
3B’s3aHY 3 IUIAHOM, PO3KJIaJOM ab0 3aBYacHO 3pOOJICHOIO
JIOMOBJIEHICTIO.

MopanwsHe aiecinoBo can (could) BxwuBaethbcs 1) s BUpaKeHHS
¢13uyHOi abo0 PO3yMOBOi 3AI0OHOCTI, BMIiHHS a0O0 MOKJIHUBOCTI
BukoHatu 1it0 (Can you draw?); 2) B pO3MOBHIA MOBI s
BUpaXXEHHs (DaMUIbIpHOTO MpPOXaHHs, 103BoJIy abo 3aboponu (Can’t
you keep quiet for a minute?); 3) y 3anepeuniii i nuTanabHii GopMmi s
BUPKECHHS MaJioi MMOBIPHOCTI, a TaKOX jJocaiu, Hepo3yMiHHs (It
can’t be true!). 3amMiHHHUKOM Ji€ciioBa can € to be able to.

MopansHe giecnoBo may (might) BxuBaetbesa: 1) s
BUPAXKEHHS JI03BOJIY, MPOXaHHS (Y CTBEP/KYBaJIbHIM Ta MUTAIbHIN
dopmi) 1 3ab6oponu (y 3anepeudiii dopmi) (May I come in?); 2) mis
BUpPAXXE€HHS MOXJIMBOCTI, npunyuieHHs (Let’s hurry, it may rain
tonight); 3) ¢popma might 3 0CHOBOIO HEO3HAUYEHOTO 1 MEPPEKTHOTO
1H(]IHITIBA BXHMBAETHCS MJI1 BUPAKEHHS JOKOPY ab0 3ayBaKeHHS
(You might be a bit polite.)

JIENTPUKMETHUK (PARTICIPLE 1, IT)

JliempuKMeTHUK — 11 HeocoOoBa ¢opma JI€CTOBA, KA MOETHYE
B €00l BJIACTUBOCTI [I€CJIOBA, MNPUKMETHUKA 1 MPUCITIBHUKA.
JIIeEMpUKMETHUKY aHTJIIAChKOI MOBH BIAMNOBIJAIOTH B YKPaiHCHKIN
MOBI JIENPUKMETHHUK 1 J1E€NPUCITIBHUK.

PARTICIPLE 1 (mi€enpuKMETHUK TENEPIIIHBOTO  4acCy)
YTBOPIOETHCA BiJI OCHOBH JIIECIIOBA 3a JIONIOMOTOI0 3aKIHUCHHS — ing
(translating, going) Ta o3Hayae Ail0 OJHOYACHY 3 JII€I0 JI€CIOBa-
MPUCYIKA.



While translating difficult texts
we use a dictionary.

While translating difficult texts
we used a dictionary.

While translating difficult texts
we shall use a dictionary.

[lepeknanaroun BaxKi TEKCTH,
MU BUKOPUCTOBYEMO CJIIOBHUK.
Ilepekiiagaroun BaKKl TEKCTH,
MU BUKOPHUCTOBYBAJIA CIIOBHUK
[lepexnagaroun BaXKKi TEKCTH,
MU OyJIEMO BUKOPHUCTOBYBATHU

CJIOBHHK.

JlleNpUKMETHUK TENEepiIHbOr0 4Yacy BIJI [IIE€CTIB: to see —
O0auutu, to hear — uyTH, to arrive — npuOyBaru, to come — NPUXOAUTH,
to enter — BXOJIUTU Ta 1H. — TAKOXK MOXKE O3HAUYATH IO, SIKa MEepeaye
11 TiecIoBa-MPUCYIKa.

Hearing the news I ran to tell it to my friend. - IlouyBuu 10
HOBUHY, 5 TOOIr po3Ka3aTtH ii IpyToBi.

Participle 1 BukopuctoByethcsi y QyHKIIII:

1) o3HaueHHs

a) rmepej CI0BOM, 1110 BUBHAYAETHCS:

Running water is pure. — [IpoTo4yHa Boja - yucra.

0) micig CIoBa, 10 BU3HAYAETHCS:

The man sitting at the table is our teacher. — YosnoBik, sikuit
CUIUTH 32 CTOJIOM, HAIll BUUTEIIb.

2) ob6cTaBUHU

Going home I met an old friend. — Mayun nomoii, s 3ycTpis
CTaporo Jpyra.

PARTICIPLE II (nienpukMeTHUK MUHYJoro uacy) (asked,
given) € He0COOOBOIO (POPMOIO AIECTOBA, SIKA BXOAUTH y CKiIaa hopm
rpynu  Perfect Ta Bcix ¢opm mnacuBHoro crany. Participle II
BUKOPHUCTOBYETHCSI TAKOX Y (DYHKITII:

a) O3HAYCHHS

The book translated from Russian is very interesting. — Kunura,
nepeKsaieHa 3 pociiicbkoi MOBH, ITiKaBa.

2) oOctaBuHHU (MPUYUHU a00 YaCy)

When constructed, the railway was carefully tested. — Komu
3aTi3HUIL OyJia moOy10BaHa, BOHA OyJia peTeibHO NIepeBipeHa.



BAPIAHT 1

Exercise 1

Ilepenuwims peuenns, nocmasme ix 6 Passive voice ma
nepexkiadims ix YKpainCbKoio MOBOI0.

1 People speak English in different parts of the world.

2 Where did you apply the new method?

3 Everybody will laugh at you, Alice, if you say it again.

4 opov invented the radio in 1895.

5 They will build the bridge next year.

Exercise 2

llepenuwims peuenHsi ma nepekiadimev iX pPIOHOW MOBOI,
36epmarouu  yeacy Ha euxopucmauus uwacie epynu Continuous.
Buznaume uac euodinenux diecnis.

1 What was Peter doing when his brother came from the
Academy?

2 While I was working in the garden, I hurt my back.

3 The economic situation is already very bad and it is getting
WOrSse.

4 My uncle will be listening to the news when I phone him.

5 Jim’s plane is arriving at 7.00 tonight.

Exercise 3

llepenuwims peuenHsi ma nepekiadimev iX pPIOHOW MOBOIW,
36epmaroyu yeazy Ha suxopucmauus dacie epynu Perfect. Buznaume
yac UdiIeHUx OIECis.

1 What a boring film! It’s the most boring film I’ve ever seen.

2 By the end of the week my friend will already have written his
report on this problem.

3 I had never seen him before yesterday.

4 The house was very quiet when I got home. Everybody had
gone to bed.

5 Tom will not pass his examination. He hasn’t done any work
for it.
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Exercise 4.

llepenuwims peuenns, ecmasme HeoOXIOHUL MOOANbUL 21420
(can, be able to, must, have to, may) ma nepexnadimeo ix yKpaiHcbKow0
MOB010.

1 Tom......... drive but he hasn’t got a car.

2 When you come to London again, you........ come and see us.

3 The fire spread through the building very quickly but
EVEryone .............. to escape.

4You......... write the letter at once.

5 Do you know if he has a car? — I’m not sure but he ........ have
a car.

Exercise 5

llepenuwims peuenns ma nepexnadimo ix piOHOIO MOBOIO,
susnaume @ynkyito oienpukmemnuxa (Participle I, Il) y peuenni.

1 Most substations supplying the trains with electricity are now
automatically operated.

2 Most locomotives used in Ukraine are built at its own
locomotive works.

3 Mr.Brown had his advertisement printed in the newspaper.

4 .Compared with other modes of transport railways have a
number of essential advantages.

5 Arriving at the station, we learned that the train had already
gone.

Exercise 6

llepenuwime peuenns ma nepekniadimo piOHOW MOBOI0,
38epmaroyu yeacy Ha 3HA4eHHs Ci6 one, that, it.

1 One can expect that the average speed of trains will be
increased.

2 The new method of painting cars proved more efficient than
the old ones.

3 It was in 1891 that the building of the world’s longest Trans-
Siberian Railway began.

4 Concrete sleepers provide greater stability of track than those
made of wood.

11



Exercise 7
llepenuwims mexcm ma nUCLMOB0 NepeKaadimo 1020 PiOHOIO
MOBOIO.

THE PROBLEM OF HIGH-SPEED FREIGHT TRAFFIC

The problem of high speeds involves a great number of other
problems to be solved whether engineering or economic.

High speeds are possible but expensive. Today, signalling,
brakes and track—because the wear on the rails increases rapidly with
higher speeds—are all being improved at the same time as the motive
power; and this costs money. To be economical, the new expensive
tracks suitable for high speeds will have to be intensively used.

Fast passenger and slow freight trains, however, cannot be
mixed on the same track. The alternative is to have one route for
passenger trains and another for freight. But maintaining two routes
instead of one also costs too much money. Perhaps the real solution is
to bring freight trains up to passenger standards. The closer the speed
of freight trains approaches that of passenger trains, the better. And
the faster the speed of all types of trains, the more journeys each train
can make. In this way few trains can do more work and this results in
the reduction of capital costs.

In this connection, it 1s of interest to note that when the new
Tokaido Line in Japan was built it was decided that it should be used
both for freight and passenger trains. Goods were to be loaded in
containers and carried on specially-built multiple-unit trains designed
to carry containers and including most of the features of the passenger
stock.

In fact, the super-fast freight trains have never been built. But
there 1s little doubt that this i1s the direction in which things are to
move in the future. When high-speed passenger and freight trains use
the same track, the same signalling, and so on, they will be able to
reach the point where the equipment will be employed to optimum
efficiency.

12



Exercise 8

Jlatime 6i0no6idi Ha 3anumarHs 3210HO 3 MEKCMOM.

1 Are high speeds possible? Are they expensive?

2 Can fast passenger and slow freight trains be mixed on the
same track?

3 What is the connection between higher speeds and the wear on
the rails?

4 What can you say about the Tokaido Line in Japan?

5 Have the super-fast freight trains ever been built?

BAPIAHT 2

Exercise 1

Ilepenuwims peuennsa, nocmaeme ix 6 Passive voice ma
nepexiadimo ix YKpaiHCcbKow MOBOH0.

1 They build a lot of new railway lines in this country every
year.

2 The guide showed them a lot of places of interest.

3 We use cranes for lifting heavy loads.

4 The customs officers will examine our luggage tomorrow.

5 A group of chemists determined the composition of this
substance.

Exercise 2

llepenuwimes peuenns ma nepexnadimo ix piOHOIO MOBOIO,
36epmaroyu yeazy Ha euxopucmanHs uacie epynu Continuous.
Busnaume uac eudinenux oiecnis.

1 The world is changing. Things never stay the same.

2 As I was taking a shower, Teresa was cooking breakfast.

3 When sunset came, he was no longer climbing, but he was
high up above the valley.

4 He will be working in his garden from nine till twelve, so it’s
no use trying to get him on the telephone.

5 They will be testing the new engine when you come.

13



Exercise 3

llepenuwimes peuenns ma nepexaadimo ix piOHOIO MOBOIO,
36epmarodu yeazy Ha euxopucmauhs uyacie epynu Perfect. Busnaume
yac UOiIeHUx OIECis.

1 My father had visited London before, and so the city was not
new to him.

2 It was my first time in an aeroplane. I was very nervous
because I hadn’t flown before.

3 When we meet next time, I will have read this book.

4 How many times have you been to Great Britain?

5 We have already come to a definite conclusion.

Exercise 4

llepenuwims peuenms, ecmasme HeoOXIOHUL MOOANbUL 21420
(can, be able to, must, have to, may) ma nepeknadims ix yKpaiHcbKow0
MOBOI0.

1 It i1s very warm, we .......... sleep tonight with the window
open.

2 The little boy ............ not open the heavy door, so that a
passer-by had to do it for him.

3 They didn’t want to come with us at first but in the end
WE.iiiiiiiiinnnnns to persuade them.

4 1 think the government .......... do something about the economy.

5 Do you know if he’s telling the truth? — I’m not sure,
he.......... be telling the truth.

Exercise 5

llepenuwims peuenHsi ma nepekiadimev iX pPIOHOW MOBOI,
susnaume @ynkyito dienpukmemnuxa (Participle I, Il) y peuenni.

1 The locomotives hauling trains on mountainous railways
usually operate on electric energy.

2 Several short links in the Vinnytsia and Kiev regions serving
the sugar industry were built in the interwar period.

3 Locomotive industry is a branch of the machine building
specialising in locomotive engines.

4 The book discussed at the lesson yesterday deals with the
problem of war.

5 When given time to think, he always answered well.
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Exercise 6

llepenuwimes peuenns ma nepexaadimo ix piOHOIO MOBOIO,
36epmarovu yeacy Ha 3HA4eHHs Cli6 one, that, it.

1 The railway having one rail is called a monorail.

2 One may say that the introduction of long-welded rails on
concrete sleepers has greatly improved the stability of track.

3 It was the railway which became the shortest way from Europe
to Asia.

4 The repairing of the rolling stock is more complicated than that
of the track.

Exercise 7
Ilepenuwims mekcm ma nuUcbMo80 nepekiadime U020 PIOHOH
MOBOIO.

THE EXPRESS TRAVELS AT 500 kph

In recent years, the speeds on railways have increased so greatly
that we can say that the monopoly of the wheel 1s coming to an end.
Indeed, railway trains now travel at a speed of 200-300 kph. This is
the limit for the traditional "wheel-rail" system.

Many specialists now speak in favour of pollution-free, noiseless
and efficient high-speed land transport (HSLT) based on the principle
of the electromagnetic attraction and repulsion.

The trains of this type or the magnetic planes, as they are
sometimes called, are to be propelled by a linear induction motor.*
They will be able to travel at speeds up to 500 kph and replace the
existing trains on long-distance routes and airplanes on distances of up
to 2,000 km.

There are several versions of magnetic suspension. Most
specialists consider that the practicable system for HSLT in the near
future would be the system in which electromagnetic attraction forces
would lift the vehicle 10-15 mm above the track. The linear motor
would supply power for propulsion.

Four vertical and four horizontal electric magnets would ensure
the suspension and the stabilization of the vehicle.

A specially-designed control system would automatically provide
a 15-mm gap between the vehicle and the track,
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A model of a magnetically suspended vehicle currently undergoing
trials serves as a prototype of a full-size experimental vehicle, seating 75
passengers and running at 400 kph. The speed, however, will be
increased later on.

Exercise 8

Jlatime 8i0no6ioi 3anumanisi 32i0H0 3 MEKCMOM.

1 What speed can modern trains develop?

2 How are the magnetic planes to be propelled?

3 What can you say about magnetic suspension?

4 What is the limit for the traditional “wheel-rail” system?

5 What will be the practicable system for HSLT in the near
future?

BAPIAHT 3

Exercise 1

Ilepenuwims peuenns, nocmasme ix 6 Passive voice ma
nepexkiadims ix yKpaiHcobKor MO8o10.

1 They often invite me to their presentations.

2 Jane’s friends gave her many presents for her birthday.

3 They will open a new railway station in our town this year.

4 Many important inventions followed the discovery of radium.

5 They crossed the city in different directions but couldn’t find
the house anywhere.

Exercise 2

llepenuwimes peuenns ma nepexniadimo ix piOHOIO MOBOIO,
36epmaroyu yeazy Ha euxopucmanHs uacie epynu Continuous.
Buznaume uac eudinenux diecnis.

1 They are leaving London next week. They are going to the
south.

2 He is still ill but he is getting better slowly.

3 Were you watching television when I phoned you?

4 T was writing a contract the whole day yesterday.

5 At 10 o’clock tomorrow he will be having an examination.
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Exercise 3

llepenuwimes peuenns ma nepexaadimo ix piOHOIO MOBOIO,
36epmaroyu yeazy Ha euxopucmawnHs dacie epynu Perfect. Busnaume
yac UOiIeHUx OIECis.

1 They will have completed the tests by the end of the week.

2 I have seen the film and I think it is very dull.

3 He explained where, when and under what circumstances they
had met again.

4 Our group has worked at the laboratory twice this week.

5 He had passed all exams by the end of the last month.

Exercise 4

Ilepenuwims peuenus, ecmasme HeoOXIOHUU MOOANbHUL 211420
(can, be able to, must, have to, may) ma nepexiadims ix YKpaiHcbKo
MOBOI0.

1T........ go home now, mother told me to be quick.

2You....... see him every morning walking with his child.

3Tom............ (not) drive really. He is too tired.

4 She spoke in a low voice but I ............ understand what she
was saying.

5 Do you know if she wants to go? - I’m not sure, she ........
want to go.

Exercise 5

llepenuwims peuenHsi ma nepekiadimev iX pPIOHOW MOBOIW,
susnaume @ynkyito dienpukmemnuxa (Participle I, Il) y peuenni.

1 When will you have a telephone installed in your flat?

2 Travelling on the Gliding Railway people were surprised by it
smoothness.

3 Entering the room I was dazzled by the bright light.

4 When invented, the steam locomotive played an important part
in transportation.

5 Here is a letter announcing his arrival.

Exercise 6

llepenuwime peuenns ma nepekniadimo piOHOW MOBOI0,
36epmaroyu yeacy Ha 3HA4eHHs Clie one, that, it.
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1 One may say that the electronic computer is one of the most
remarkable achievements of the twentieth century.

2 It 1s the railways that are one of the most popular means of
transport.

3 One day in 1804 the people Of Philadelphia saw a roaring and
fire-breathing monster running along the street. It was the first steam
locomotive in America.

4 We know that there are two different types of monorails — a
suspended type and a supported type.

Exercise 7
llepenuwims mexcm ma nUCLMOBO NEPEKNAOiMb 1020 PIOHOI0
MOBOIO.

ROBOTIZATION — DAWN OF A NEW ERA

Robot is a machine which is designed to do the work of a human
being. It is usually controlled by a computer.

Computer scientists and engineers in several countries are
developing robots to replace people at dangerous locations or at
simple jobs. Robots with arms and hands would be helpful at plants
where there are toxic chemicals or vapours or where there is danger of
radiation.

Fujitsu Fanuc Ltd, Japan, one of the world's producers of
computerized industrial equipment and robots, has designed robots
making robots. It goes even further. It hopes to build a factory without
any workers at all.

At the same time Hitachi, the Japanese electronic company, has
mobilized several hundred scientists and engineers to produce a new
generation of robots. They will be able to see, feel and walk up and
down factory floors to supervize other robots on automatic assembly
lines. The company expect lots of blue-collar workers to disappear
from the assembly lines. Factories will be manned only by clerical
staff and a few maintenance technicians.

The first industrial robots appeared in Ukraine more than 40
years ago. In the late 60's, engineers believed that industrial robots
were not economically or technically expedient. But after two or three
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years it became clear that these devices were an economic and social
necessity.

Our industry has begun mass production of second generation
robots—the so-called adaptive robots which have technical vision and
can perform the most sophisticated jobs. It is planned to start the
production of third generation robots with elements of artificial
intellect.

Exercise 8
Jlatime 8i0no6ioi Ha 3anumMamHs 32i0HO 3 MEeKCIMOM.

1 What 1s a robot?

2 When did the first industrial robots appear in Ukraine?

3 What company is one of the leading producers of robots?

4 For what purpose do computer scientists and engineers
develop robots?

5 What type of robots has our industry begun to produce?

BAPIAHT 4

Exercise 1

llepenuwims peuenns, nocmaeme ix 6 Passive voice ma
nepexkiadims ix YKpaiHCbKow MOBOI0.

1 I am sure your presents will please them.

2 Everybody will listen to this lecturer with great attention.

3 They informed me that they had seen you in Oxford Street.

4 Everybody speaks well of this double-deck trailer.

5 The play impressed Joan greatly, so greatly that she cried.

Exercise 2

llepenuwimes peuenns ma nepexniadimo ix piOHOIO MOBOIO,
36epmarouu  yeazy Ha euxopucmanusa uwacieé epynu Continuous.
Busnaume uac eudinenux oiecnis.

1 If you ring him at midnight, he won’t answer. He will be
sleeping.

2 My friend was glad that I was leaving for the South.
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3 I saw Jim in the park. He was sitting on the grass and reading a
book.

4 The number of people without jobs is rising at the moment.

5 The teacher will be explaining new rules for an hour.

Exercise 3

llepenuwims peuenHss ma nepekiadimev iX pPIOHOW MOBOI,
36epmaroyu yeazy Ha suxopucmauus dacie epynu Perfect. Buznaume
yac UdiIeHUx OIECis.

1 He had finished his work before he left for Kharkov.

2 The rolling stock has not been examined since July.

3 When I came home everybody had gone to the concert.

4 By this time tomorrow they will have crossed the British
Channel.

5 If I go on working without interruption, I’ll have finished my
translation at dinner time.

Exercise 4

Ilepenuwims peuenus, ecmasme HeoOXIOHUU MOOANbHUL 211420
(can, be able to, must, have to, may) ma nepexknadims ix YKpaiHcbKoio
MOBOI0.

1 Ask Ann about your problem. She ........... help you.

2 Many children in Britain.................. wear uniform when
they go to school.

3 You ....... not see the house because it is hidden behind the
trees.

4 ... you speak any foreign languages?

5 Ann .......... not come to the party tonight. She isn’t feeling
well

Exercise 5

llepenuwimes peuenns ma nepexniadimo ix piOHOIO MOBOIO,
susnaume @ynkyito oienpukmemnuxa (Participle I, Il) y peuenni.

1 The people living in the 21 century travel in automobiles.

2 At present the electrified railway network carry the most part
of thr total traffic.

3 The railways in central and eastern Ukraine carried raw
materials to the rapidly growing industry in the Dnieper region.
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4 When drawn by electric locomotives, the trains may have more
than 90 cars.
5 Arriving at the cottage he went up its mossy stones.

Exercise 6

llepenuwime peuenns ma nepekniadimo piOHOW MOB0I0,
36epmarouu yeacy Ha 3HA4eHHs Ci6 one, that, it.

1 At the exhibition one could see the latest track-laying machine.

2 Scientists are working hard to improve the existing computers
and develop the new ones faster and more efficient.

3 It was the Russian inventor Polzunov who built the first
stationary steam engine.

4 The main-line track is the track that carries a large volume of
traffic.

Exercise 7
llepenuwims mexcm ma nuUCLMOB80 NepeKkiadimo 1020 PiOHOIO
MOBOIO.

THE JUNGFRAU RAILWAY IN SWITZERLAND

The Jungfrau Railway in Switzerland is an extremely interesting
example of penetrating into the mountain depth.

A popular holiday resort of Interlaken is beautifully situated
among a picturesque group of mountains, with three peaks covered
with snow and ice. The Jungfrau is the highest peak among them.

Because of steep rock this place could be reached only by
experienced mountaineers until someone spoke in favour of a tourist
rail route which would be very popular. A surface railway being out of
the question, it was decided that a conventional railway should be
built inside the mountains. At first it was possible to construct an
ordinary surface railway. But in fact, where the mountains rose up in
rock precipice the tunnel had to be built.

The scheme adopted for the tunnel is of great technical interest.
First of all, the tunnel has a very deep grade. Actually it is so steep
that the rack and pinion system had to be used to ensure a safe
operation of electric trains in the tunnel.
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The second feature of the tunnel is a great volume of earth-work
involved in its construction. The first underground station is located at
a height of 2,820 m. Here galleries were bored through the rock so
that tourists could walk out on to the face of the mountain to see a
beautiful view of snow peaks.

The Jungfrau tunnel is one of the few tunnels built with very
sharp curves. After the first station the railway makes a sharp curve
and continues its upward journey, still in the tunnel in the heart of the
mountain. The next station is at a height of 3,130 m.

As to the terminal station it was initially decided that it would be
in the Jungfrau itself at a height of 4,020 m. One should mention
another interesting feature of the Jungfrau tunnel. At no point was it
necessary to line it for the rock was extremely hard.

The construction of the Jungfrau involved 7.2 km of tunnelling.

Exercise 8

Jlatime 6i0no6idi Ha 3anumamnHs 3210HO 3 MEKCMOM.

1 Where is the Jungfrau Railway situated?

2 What kind of railway was used in the Jungfrau?

3 Where is the first underground station located?

4 What is the total length of tunnels in the Jungfrau Railway?
5 What can you tell about the curves in the Jungfrau tunnels?

BAPIAHT 5

Exercise 1

Ilepenuwims peuenns, nocmasme ix 6 Passive voice ma
nepexkiadims ix yKpaiHCcbKkowo Mo80i0.

1 Someone broke the switch last night.

2 We will discuss the plan of our trip tomorrow, you must come
by all means.

3 Heating raised the temperature of water.

4 He doesn’t fix the devices himself.

5 Why did they laugh at him when he began speaking of his
adventures?
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Exercise 2

llepenuwimes peuenns ma nepexaadimo ix piOHOIO MOBOIO,
36epmaroyu yeazy Ha euxopucmanHs uacie epynu Continuous.
Buznaume uac eudinenux diecnis.

1 Nick is still ill. I shall be visiting him tomorrow.

2 Were you waiting for me at the station at 8 o’clock in the
morning?

3 1 was listening to the eight o’clock news when Henry came
into the room.

4 The cost of living is rising. Every year the things are dearer.

5 Don’t call Marry tonight between seven and eleven. She will
be writing a composition.

Exercise 3

llepenuwims peuenns ma nepexnadimo ix piOHOW MOBOIO,
36epmaiouu ysazy Ha euxopucmants dacie epynu Perfect. Busnaume
yac eUOLIeHUX OIECIlis.

1 He will have passed all exams by the end of the next month.

2 The fast train has just left for Kiev.

3 By the end of the week we had already done half of the work.

4 They have rarely differed in their opinions.

5 George didn’t want to come to the cinema with us because he
had already seen the film twice.

Exercise 4

Ilepenuwims peuenus, ecmasme HeoOOXIOHUU MOOAIbHULL 211A20J
(can, be able to, must, have to, may) ma nepeknadims ix YKpaiHcbKow0
MOBOI0.

1 Jack was an excellent tennis player. He.......... beat anybody.

2 You really........... work harder if you want to pass that
examination.

3 They .......... not disturb us in our work.

4 I’m not sure where to go for my holidays but I......... go to
Italy.

5 Did they find your house? — Yes, it took them a long time but
they ..............eel. to find it.
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Exercise 5

llepenuwimes peuenns ma nepexaadimo ix piOHOIO MOBOIO,
susnaume @ynkyito oienpukmemnuxa (Participle I, Il) y peuenni.

1 Processing the data the computer does not make errors.

2 The speeds developed by electric locomotives are enormous.

3 It is a house built some hundred years ago.

4 Railway electrification attracts the attention of transport
engineers in the countries facing the energy crisis.

5 The people living in the 18" century travelled in carriages.

Exercise 6

llepenuwime peuenns ma nepekniadimo piOHOW MOBOI0,
36epmaroyu yeacy Ha 3HA4eHHs Clie one, that, it.

1 One should say that some short underground sections in
London run on the surface of the ground.

2 Nowadays one of the most highly developed underground
systems in the world is that of Moscow.

3 It is the electronic computers which will make our travel in
high speed trains safer.

4 1t 1s the ballast that supports the track structure.

Exercise 7
llepenuwims mexcm ma nuUCLMOB0 nepeKiadimo 1020 PiOHOIO
MOBOIO.

TRANSPORT AND THE ENVIRONMENT

It 1s known that every type of transport has its effects on the
environment. Motor cars, planes, and locomotives pollute the air,
especially in big cities. It has been estimated that one car burns an
average of 2 tons of fuel per year using up to 27 tons of air in the
process of burning, their exhaust gases containing very dangerous
carbon dioxide and other extremely harmful substances. Motor
vehicles appear to use up nearly 4 times as much air as the world
population.

In addition, land and air transport is a major source of noise
which is harmful for human health.
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The principal task today is to find ways and means to reduce air
pollution and noise produced by all types of transport, city or suburb.

Some specialists believe electric transport is the kind of transport
to be given much attention to. Among the electrically-driven vehicles
one should mention electromobiles or battery electric cars and buses.
Up-to-date, several types of battery electric cars have been developed.
They do not pollute the air and they are practically noiseless in
operation, but in many respects the electric cars have lower
characteristics compared with the internal combustion engines, the
main problem being the short range between recharging batteries. The
accumulator batteries modern electric cars are powered by are not
only short-lived, they are too heavy and too expensive and generally
unsuitable for electrically-driven cars.

One promising trend in the design of electric cars may well be
the fuel cell as a power source. A great deal of research is being done
in many countries on building a reliable and efficient fuel cell for
mass-production cars.

Exercise 8

Jlatime 6i0no6idi Ha 3anumarnHs 3210HO 3 MEKCMOM.

1 How much fuel can one car burn per year?

2 How many tons of air are used in the process of burning of the
fuel?

3 What is the principal task in production of vehicles today?

4 What can you say about electric cars?

5 What kinds of power sources for electric cars do you know?
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